[BIM~E5/IE, VTP 2BERRL, MELESL,

HAR GRIREE) A 20)

(1) B pZ5BETRTE 1244 THHETH, ZDOEE

p=1x5"+2x5+4=[ 71 ]
THbo
EA
3p=3(1x5"+2x5+4)
=3x5°+6x5+12
=3X5°+6X5+2X5+2

=3x5"+[ % |x5+2
=3x5"+1x5"+[ T |x5+2
=4x5"+| T |x5+2

THY, 3p+25 & SEERTRTE [FHXT | ThHB.

BZET - BFAFB4B BRR-TICH<)

—130—




S7E

2) a, b, clF, 1=a=<4, 0=b=<4, 1=Sc=4 %Wl IBHTHD, BAREN
\Jiz
% 55&&5?%?& 3*@@%{ abc<5> Wb CDOEZ
N=|#ala+| % |p+c

THBo

(i) N % 7TH#EETRT & 3NDE cbag) 1274575518

p=12(a-[ 1)

)
(@b, 0=2 ][] [~ ] (=] [=][~]
BB 2EL, [ X |<[ 5 ] &35,

(i) d% 1<d=<4 2H-IBEEL, 3N &5 EETET & 3MOH deae 17k
5ETH, 5T, a<c<4 LTBHL
(e, o)== | [+ ])
THY, 3N+5m % 5HEETET L 4MORICR B £S5 HIEDEE m 132

c[F=x|HEs 2.

—131—



